P. 32 Top #1

(A)  Since the sum of the rows must be 17, each row must have either one odd number and two evens, or all three numbers must be odd.

One way to make this happen is to try the even numbers at the corners.  This would give one odd in each row.  But no matter how this is tried, some contradiction appears:  an odd number is needed more than once, or an 11 is needed to make 17.  Some rows, then, need three odds.

(B)  Grand total of all five lines = 5 ( 17 = 85

Total of 1 + 2 + 3 + … + 9 = 45

Somehow, 40 more must appear from somewhere.  

The extra 40 will come from the four corners.  The two numbers at the top and bottom will be counted one extra time.  The left and right numbers will be counted twice extra.  So we need four numbers a, b, c, and d so that 2a + 2b + c + d = 40.

For example, if a = 8, b = 6, c = 7 and d = 5, the equation above will be true.  Note, however, that if these numbers are on the corners, there is no place to put the 9 without exceeding the sum of 17.

This gives a clue pertaining to a, b, c, and d:  one of the numbers should be small so as to allow some vacancy for the nine.  

Also, 9 and 8 cannot be in the same row.  So if 9 is at the “northeast” position, 8 must be at the west corner, and vice versa.

So by the preceding statement and other efforts,  it looks bad to have an 8 in a corner.  S we must try a nine in a corner.  Put it in the west corner and an 8 in the northeast corner.

Now let a = 9, with (as before) b = 6, c = 7 and d = 5.  

But now 2a + 2b + c + d = 42.  

So remember about our needing a small number at a corner to make room for the 9.  Make one of c and d smaller by 2.  Which?  Ha!  Think!

From here, just experiment.








